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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 54/AS/4—| A | on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Note : (1) All questions are compulsory.

)
)

Marks allotted to each question are indicated against it.
Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Select the correct answer

and write it in your answer-book against the number of question.

e« (1) [l weT sfEd E
(2) YAH YT % i IOk 9 9 W T
(3) IEH™S T HHH 1 ¥ 8 Tb, TAH UT H X dbfewsd I (A), (B),
(C) 3t (D) T ™ % v & ws W&l a1 waitys sfad 3 | 2 3O g
AT AT IAGRABT H IH TS HHG b G AR |
1 Which one of the following is a positive statement ? 1

(A) Government should increase the wage of labourers.

(B) India has a large number of unemployed youth.

(C) Government should provide houses to poor people at low prices.

(D) Government should provide free education to all.
frafafgd & ¥ 91 0% aRAas BT 5 7

(A) @R B S B wegd SgHl @Ry |

(B) ARG ¥ YU Jaadi & @&l offas 5 |

(C) @R & TUSf & & Al UK HeHE U HH e |
(D) "R & g9 & Fuyges e Iudsy sIEl dmey |
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2 Which one of the following is a non-economic factor of economic development ? 1

(A) Natural resources (B) Racial factors
(C) Capital formation (D) Technology
frafafaa & ¥ ani¥e fem &1 sF-a R—enite ara & 7
(A) UIplds HErEd (B) dITIA B
(€) et o (D)  sirenfirhy
3 The problem of ‘what goods and services shall be produced’ is related to : 1

(A) Which goods and services are to be produced.
(B) The method by which goods and services are to be produced.
(C) Distribution of income and wealth in the society.

(D) Who is to enjoy and get the benefit of the goods and services produced.
o ARG S WATS HI IUEA AT W T wEied ¢l

(A) T axgetl ofix gamstl &1 SdRd fear sy |

(B) =& faty fas aTq axgstl &R wamst @1 SdRd fear sy |

(C) ¥ ¥ o &R | & faaeer ¥ )

(D) SwETed aEgal S Warstl &1 IUAN {69 &M 5 AT D ST & @ 9T

B |
4 A production unit owned by a single individual is known as : 1
(A) A partnership (B) A private company
(C) Sole proprietorship (D) A public distribution unit
U% AR & WIHE dl SUET 3%E Hearl &
(A) wr=rETd (B) it @
(C) UHd @i (D) WSt faaeor g
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5 Marginal revenue is : 1
(A) The amount a seller receives by selling certain quantity of a commodity.
(B) Revenue per unit of the commodity sold.

(C) Increase in total revenue due to one unit increase in the sale of the quantity

of output.

(D) The total amount of money received by the seller during a given time period.
dH| ST B §

(A) T Tabdr g0 a% @ U Miad 9En & fag @ o aimo |

(B) =g % fwpa ¥ i 3®E &M |

(C) IURT &I WEM & 9% o Th IHE &I Jig HC U pa dFH o
B Al gig |

(D) & 5 T oty ® fagear g0 Wt HA Wil T

6 Demand for a commodity refers to : 1

(A) Quantity of the commodity that a buyer is willing to buy at a given price

per unit of time.
(B) Quantity of the commodity purchased per unit of time.
(C) Quantity of the commodity that a buyer is willing to buy.

(D) Quantity of the commodity purchased at a given price.
el axg @ AN ¥ afHuE §

(A) I @ 9% AET SH TH & M5 HEG UL UG 3HE 99§ haT hd B
% {0 qa T

(B) I @ 9% AET Wl U SHE 99 H @S Sl § |
(C) a& ®I a8 AGT S %hal %I & & ¢ qal ¢ |
(D) I @ I8 AN S A T3 HEA T @A ST 5|
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7  Data means : 1
(A) Quantitative and qualitative information.
(B) AQuantitative and qualitative information providing facts in aggregate manner.
(C) Qualitative information providing facts in aggregate manner.

(D) Quantitative information providing facts in aggregate manner.
diwel § e ¥

(A) TS J97 UTHS LA |

(B) Tl ®I WHfe®w ®U ¥ IUAH HIW Il HEATD q O ol |
(C) Tl & WHfe®d &7 ¥ IqH B drel O ol |

(D) T B GER® T H IUAH B A HEAHD GaT |

8 One of the major sources of water pollution is : 1
(A) Exhaust of vehicles and automobiles
(B) Discharge from sewage treatment plants
(C) Vehicular traffic

(D) Construction work on roads
SE YUl b ged Hidl ¥ ¥ Th ¥ o
(A) dredi qun " misA ¥ fen AW
(B) H@SuaR gd=i § e

(C) X RET I

(D) wedl wx Fmir &
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9 ‘Some wants arise again and again’. Justify this statement. 2

PB AEEHAMN TN I AT Bl § | IH BT B g ST |

10 What is meant by ‘entrepreneurship’ as a factor of production ? 2

IAGET b 9T kB9 H Suq g §r AU ¥ 7

11  Define fixed cost of production. 2

IAEd @ R @t @ afearr S |

12 The total cost of producing 15 units of a commodity is ¥ 195. Calculate 2

the average cost of production.

el agg @1 15 3BE IURT & B HA @ X 195 ¢ | IUEA B SEd A
B TMUAT HIFY |

13 How will the equilibrium price of a commodity be affected when its supply 2

decreases but demand remains the same ?

el g @ GqaT dd By THTET BN o9 SHe MY o HHl o Sl & 94
A sufEkid wdr 7

14 How does public distribution system help the poor people ? 2

GESie  faier Joell 768 U TS @R @l gerdl el & 7

S4/AS/4—214_A] 7 (AARTTTMAMTINANAMWm - 1 Contd...



15 “Saving can act as a kind of security for future’. Explain with the help of 2

an example.

TOq, 9T % AU, UH G B BE BT Gl & | U SaTe0 B GeEdl ¥
SEE

16 Define ‘central tendency’. 2

B ygha B areaT S |

17 State any two main sources of air pollution. 2

qg YU & el A Y& Al B i@ B |

18 Suggest any two ways by which we can contribute to sustainable development. 2

T A % gHed Be g s 4ReiE e # aree § '@ad © |

19 What are producer services ? Explain with the help of a suitable example. 4

SR Al FT Bl ¢ 7 Uh SUgHd SaTelu B WREdl § WHEEd |

20 Distinguish between a developed economy and a developing economy. 4

i srdegeren weq fommadiar sefegawn o A8 @ISy |
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21 Distinguish between product based division of labour and process based 4

division of labour with appropriate examples.

SAR ST 9 fgaee qon uicean e sw fawee o Suge Sareen afed
qT BT |

22  State any four main features of perfectly competitive market. 4

ol gfErt IR @ el TR ygE fawdaet &1 Swg By |

23  Explain any two functions of money. 4

a1 % fesl @ sl & gEEy |

24 How does a bank create credit ? Explain with the help of a numerical example. 4

¥% GG B o HH BT & ¢! Th GCATHD SaU & Hordl § ey |

25 Give meaning of an ‘individual series’ and a ‘discrete series’. Give one 4

example of each.

‘Fferra Saer qur fafe= gEar @1 o TaEg | &% B TH ST SNy |

26 Explain in any two ways the importance of data in economics. 4

FAE A ATbSl & HET @l (bl 3 THR d TUARY |
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27

28

29

30

Following table relates to weight of 100 students in a school. Calculate 4
arithmetic mean using short cut method.
Weight (kgs.) : 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students : 7 10 35 30 8 10
frefafaq difaer & faemea & 100 fqenfat & oo o awfaa 3 | @g fafy
B YAM Hh G AT B MO HINY
T (feam) - 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
feenfial @ e 7 10 35 30 8 10
Explain any two steps taken by the government to achieve higher economic 4
growth.
ico D C I 1 ol G B O (G L £ ) R R O L o B et P L
o wasEd |
Compare in any four ways the Indian economy with that of China. 4
frsl TR UBR ¥ WRAE SEEre @ 9 e SdeEaRdr ¥ gadn &g |
Explain any two rights of consumers. 4
SUHERS % fhwl 9 SAHER B AR Hig |
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31 How is supply of a commodity affected by : 6
(1) Decrease in price of other related goods.

(i) Improvement in technology of production.

el axg @ oMyl =1 % BT %Y YHiGQ Bl © 7
(i) o wErgd axgel B BHd H BH BN WX

(i) SAET B WEifrl § gur a9 W

32 Describe any two notable economic features of the Indian economy at the end 6

of British rule.

U & MEAHW % UEN A AT B AW I A fhwl @ aniie
fasruaret @1 e @ifsg |

33 Explain in any three ways the role of primary sector in Indian economy. 6

frsl T TR ¥ ATWE sdeawen o yeite &9 @l el B g9eEd |

34 Give three major causes of soil degradation. 6

qH Tq9 & dF IS BROT SaRd |
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